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Esercizio 1. Si calcoli la derivata delle seguenti funzioni:

a) f(z) = 2®senx + 22 cosx. b) f(z) =2-3°+3-2%
¢) f(x) = xsenx cosz. d) p(x) = apx™ + ap_12" " + ... ag (polinomio di grado n).
e) f(z) = logz(sm(\/f)). f) f(gg) = /sin(log z). g) f(z) = arcsen(v/z — 1).
b @)= T D@ =T ) () = og™)".
) 7() = co(e) Dogy(0). ) Ja) = 2

m) f(z) = (1+§)* n) f(z) = <10g <x“'”+21>)

o) f(z) = ; p) f(z) = logg, , cos® .

Soluzioni
1. a) (3z — 2)xsenx + (23 +2) cosz. b) 2-3%log3 + 6. ¢) senz cosz + x cos(2z).
cos(1/T) ¢ cos(log )
2v/xsin(v/x)" 7 2z\/sin(logz)’
) 1 h) xe® (2% — 2) i 1—da~3 + 4273
Q\f\/ Vi—z (x—1)* ' 3(z3 —2)2
n? (log(z™))" " cosw , 2 )
i) f k) 2cosx Tlog2 sinx - logy (x?) |;
" cos(z®)(logz + 1) — sin(a?m); m) (1 N z) = o — (24 x)log(1+ %)

1) x2 2 222(2 + ) '

d) napz™ t+(n—1ap_12" 2 +... +as. e)

n) (k)g < z? ))i x4+ 2 B log(log(;%)) o) 2"log2 — 3"log3 2" — 3"
r+1 z2(z +1) 1og(x””—fl) x? ’ T x?

_,log(cosz) + tg?(x) - log(sin )
P) 2 ) (log(oin) 2




